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(a)

(b)

(a)

ENGLISH VERSION

Fit binomial distribution to the data and test the 15

goodness of fit. Test the hypothesis that the coins are
unbaised. 4 coins were tossed 160 times and the

following results were obtained. (thab =9-49)

No. of Heads

Observed frequency

0
17

1
52

2
54

31

Write short note : x2 test - test of Goodness of Fit. 5

OR

From the following table determine whether 10

. . . . . 2
inoculation is effective over disease. (me =3.841)

Died

Survived

Inoculated 31 469

Not inoculated 185 1315

(b)

2
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Apply ANOVA table for the following latin square plan.
(Ftab =

Write short note : Properties of Xz-distribution. 10
20
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2  The following data are the number of words per minutes 20
typed by four secretaries :
Type writers
Secretaries A B C D
I 78 62 71 77
II 57 49 62 60
111 69 78 72 83
1Y 71 66 59 67
Use 5% level of significance to test the hypothesis that the
secretaries typewriters have equal speed and different
typewriters have no effect on typing speed. (F,, = 3.86)
3 ABC Manufacture Ltd wants to check quality of 15
production process. Samples each of 250 units are inspected
for 12 days. The number of defective units found in different
samples i1s given below. Prepare np-chart and give your
suggestion.
Day 1 (2 |3 (4 |5 |6 (7 |8 |9 |10 |11 |12
No. of Defective Units | 25 |47 |23 130 |24 |34 (39 (32 |35(22]45|40
OR
3 (a) The following table shows the number of missing 10
rivets observed at the time of inspection of 12 aircrafts.
Prepare a control charts for the number of defects and
comment on the state of control
Aircrafts 121314156 |7|8[9([10]11]12
No.
No. of defects | 71513 |18(10|14|13[10(20]|11(22]|15
(b) Write short note : C-Chart. 5
4 Write short notes : (any three) 15

(1) Importance of Acceptance sampling

(2) Single sample plan
(3) Range chart and Mean chart
(4) Purpose of quality control charts

(5) p-chart.
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